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1 (a) Calculate the radial shear, normal thrst and bending moment at 4m from the left [10] [CO5| L3
support of a parabolic arch shown in figl a.
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2 (a) A three hinged arch consists of two quarter of circles as shown in fig2 a It camesa [10] |CO5 L3

load of 200 kN at 5 m from B. Compute the reactions at the supports and maximum
positive and negative bending moments.
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3 (a) A three hinged parabolic arch of span 36 m has its supports at depths 4m and 16 m  [10]
below the crown C. It carries a wdl as shown in fig. 3.a. Compute the horizontal thrust
and also find radial shear at >m from point A
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4 (a) A svmmetrical parabolic arch 1s hinged at the crown. The span 30 m and central rise  [10]
15 6m and the load vanes linearly from 50 kIN/m at each abutment to zero at the crown.
Calculate the honzontal and vertical reactions at the abutments. posifion and
magnitude of maximum bending moment.
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5(a) A suspension bridge of 100m span has a central dip of 10 m and supports an udl of [10] |CO5| L3
12 kN/m throughout the span.
Calculate 1) The mimmum and maximum tension in cable,
ii) The size of cable if the permissible stress of the cable material is 180N/mm?
i11) Length of the cable
6 (a) A cableis hanging from 2 points A and B 30m apart horizontally, Bbemg 3mlower [10] |CO5| L3
than A It supports a umform load 10kN/m throughout its horizontal length
Determine 1) The position of the lowest point, if the cable has a sag of 3 m below B.
11) Length of the cable. 111) Forces on nght side tower if cable passes over a smooth
pulley, take direction of anchor cable as 30° and height of tower as 6m.
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